Calculus
Successive Differentiation : Important Questions

A 0™ oivative o
55 831 A}n‘l’?,‘)(n
Ao
= C)u(,_’,‘ff)ﬁl’-‘) = [—-Co,&ge}
2

KY'S

y e 1" Goplin
2 2



ax
Y =;|_ e (3) Je € COA(bM-c)

‘z
jr)__ @‘z—l'b‘z) C
(q—rlé) é XCM("D(—HQ Cor (b"( FCiN
+0m“_ﬂ) tour! b)
3

jﬂ‘-’;‘z e L;s) —(5)'\ 3 COA(LI‘X—I-YI’tO:'al!))

_ % sx)’_s - 5" C”U(x—\-n't )l)u



® Luibv\ikfa’f“m ~ ?mf
® fove #ht & Log )" n!

" T
(Rogr =1 h Y-
X 2o0.
9 Y- Q‘mh"x)z frove At

WAy + Dned g+ n 9,



3 -
LL.\ ")
. (
" ‘F“’“A In 0)



